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No. of Questions : 150
WS ot WEAT : 150
Time : 2 Hours Full Marks : 450
9T : 2 gog quTE : 450
Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

question.
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(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.
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V1. The theme of National Science Day 2015 is ....... ?

02.

03.

(1) Science for Daily Life
(2) Science for Nation Building
(3) Science for Sustainable Development

(4) Science for Better Future

s s Raa 2015 @0 g . o |
(1) e S & Ria fasme

(2) TE FE & e [Eme

(3) HuRvig @ & g fosm

@) ded diaw G fae fastH

Which among the following will be the base currency for BRICS New
Development Bank ?

(1) US Dollar (2) Rupee

(3) Yuan (4) Russian Rouble

Frefafad §  Sm—ar g & 3 e S &1 TR g arlt 7
(1) JoUHo S (2) J9AT

(3) Fa= (4) =El G

What is the name of Innovation Council proposed in the Rajh‘my budget
2015 to promote innovation ?

{1) Navachar (2) Rail Tech

(3) Kayakalp (4) Sankalp |
-:z@mzh%aaa'aﬁatﬁ:ﬁwaﬁmﬁﬁ%ﬁ?ﬂﬁmﬂiﬁﬁw
g e geT !

' >%
(1) TETER ((i; Qﬂ
(3) FEHR Hehed
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Which country has developed the world's first 3D print of jet plane ?

(1) Japan (2) China (3) Australia (4) Germany

qawed e 331 T fasg &1 gyw S @ # 3D B Rafya B ?
(1) Sma= (2) =+ (3) oTeSferar  (4) ST

'Four Comprehensives' is a new political theory unveiled by which

country ?
(1) USA (2) China (3) SriLanka (4) Russia
IR ANFHAT q4 AHIOh Herd & dR X [F9 9 9 g
T ? '

(1) guau (2) == (3) =fiienr 4) =9

Which of the following banks have recently merged with Kotak

Mahindra Bank ?

(1) Lakshmi Vilas Bank (2) ING Vysya Bank

(3) Federal Bank (4) ICICI

Frfeias & & fhe &% ¥ et & # % afesr 35 F Reg a7
(1) Tt e S (2) SAETTSN Ava Fp
(3) BT e (4) SrsHteTEdtas

P.T.0.
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07.

08.

09.

Which among the following sectors is the largest receiver of Foreign

Direct Investment in India ?
(1) Services (2) Automobile

(3) Telecom (4) Pharmaceuticals

ot o 3 fr & | vt fBReh oo ey kg F gor 7
(1) dfd| (2) STTEHIETE
(3) 2<iRm (4) wHERGCHA

Apart form Kaziranga National Park, which one of the following is
home to one-horned rhinos in India ?
(1) Jaldapara National Park (2) Balphakram National Park

(3) Gangotri National Park (4) Hemis National Park

TRE A et wefta ge ® ormEr Few § @ us di ar el

T 9T HMET ST & 7

(1) SIETEIRT |9 9Teh (2) SAHERE AL T
(3) ST AT qTeh (4) B AT qTh

The NERPA programme, which is in news, is related {0 ......... ?
(1) Reserve Bank of India (2) Election Commission

(3) Ministry of Finance (4) Ministry of Agriculture
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11.

12,
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NERPA &dh fopad qeafeaa & 2
(1) R=E g% offw ghear (2) FAE STANT
(3) o A=y (4) N A

As per the Union Budget 2015, Centre of film production, animation
and gaming has been proposed to be set up in which state ?

(1) Arunachal Pradesh (2) Maharastra
(3) Uttar Pradesh (4) Tamil Nadu

2015%ﬁﬁamﬁﬁsmﬁﬁw,éﬁaﬁmwﬁfﬁvaﬂ%aﬁm
T F gwaifad frar Tr v ‘

(1) STEUTES g39T (2) HERT<
(3) TuX wRsT (4) Ty

Which is the first state in India to implement 33% reservation for
women in Police force ?

(1) Uttar Pradesh (2) Assam
(3) Gujrat (4) Punjab

g%ﬂaaffﬂ%ﬁraﬁ%fmsa%wmaﬂﬁam&ﬂzﬁmw
T B 8 ?

(1) IWT ga9r | (2) 19"
(3) e (4) 9T

What is the ranking of India in Human Development Report 2014 ?

Aa Qe Rate’ 2014 § s 99 e T 2 ?
(1) 135 (2) 136 (3) 134 (4) 137

P.T.O.
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13.

14,

15.

The first Vice Chairperson of NITI Ayog, Arvind Pangaria was the
Professor in which University ?

(1) University of Pennsylvania  (2) Columbia University
(3) Yale University (4) California University

I STANT & Ysdl Suregy osRfAE gawisar e fasafaamea §
q%EY & Ug g HEad o 7

(1) et Rsafaerea (2) IS [eaiaerad

(3) a1 Rvafaa™ (4) Shieritran fRsateeed
Among the following who has been chosen as 'Asian of the Year'
(1} Sachin Tendulkar (2) Narendra Modi

(38) Tony Tan Keng Yam (4) St Jinping
=t 7 R Ty it oTw & 3IY gAT T 7

(1) wfes dgaest (2) =Rz |I&

(3) Tl & BT | (4) <ff Rm=fEET

Indian American who has been appointed as Surgeon General of
America ?

{1)  Avinash Mayaram (2) M. Venkatraman
(3) Narayan Mahichand (4) Vivek Murty

A Yol bl de Silidebl [ siHTe T U9 SRS ST T

(1) ST AR (2) THo dHeTHT
(3) TP HiEHE (4) fades gl

World Environement Day is celebrated every year on :
(2) August 26

(1) January 15
July 10

(3) June S (4)
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18.
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fava wataeer Raw wd% af Rea R wemat omar © -

(1) 15SHad (2) 26 ST

(3) 5 37 (4) 10 <Ts

'Playing it my way' is autobiography of which player ?

(1) Saurabh Ganguly (2) Sachin Tendulkar
(3) Vishwanathan Anand (4) Saina Nehwal
QAT 3T AR ¥ ey Raard) oY arrarmer & 2

(1) RS TR (2) aferT dgert

(3) T amv= (4) Q3T AEATH

Which of the following book is authored by Kalidas ?

(1) Mudra Rakshas (2) Meghdootam

(3) Ashtadhyayi (4) Kadambri

Mt & & Ree g & e e ¥ 7

(1) T&T e (2) HEgaH

(3) orTenwdt (4) TrE=Q

The book 'Malgudi Days' was authored by :

(1) R. K. Narayanan (2) K. R. Narayanan

(3) S.R. Narayanan (1) R.S. Narayanan

AL BT B s P

(1) SRo Fo ARV (2) HoIRo ARG

(38) TWHo &% o AN (4) RoTHo ARFUR
9

P.T.0,
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20.

21.

22.

23

‘The Brief History of time' is the creation of :

(1) A.P.J. Abdul Kalam (2) Stephen Hawking
(3) Higgs (4) Bill Clinton

T foms feell enw egw Frae @ R 7

(1) UolloSo 3Tsgar Had (2) kA Blfhd
(8) fema 4) o FRies
The author of famous Harry Poiter series is :

(1) K. K. Rowling (2) K. J. Rowling
(3) J. K. Rowling (4) A. K. Rowling
&l U e & dwe ©

(1) Fodo e (2) FosTo T
(3) StoTo AT (4) Tomo URIT
Who is decleared as 'Time Person of the year' 2014 ?
(1) Pope Francis (2) Ebola Nurses
(3) Mark Zukerberg (4) Narendra Modi
TEH qdd oi% & 39X 2014 fpa =it fopar mar ?
(1) @7 wEfE (2) T T4l

(3) HIh S[eheri (4) = AL

160 Parliamentry election was completed in how many phase ?

1631 SlergsT & ed @ [T oTH g fRey =Xol # Fea g !
(1) 9 2) 8 @) 7 (4) 10

Which of the following country is the host for the 2016 Olympic Games ?
(2) Netherlands

(1) Souih Alrica
(4) Italy

(3) Brazil

10
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=1 & & [ 29T & 2016 & ofaiys Saf 4 AoaEy ey & 7
(1) WIS STIERT (2) oS
(3) =TT (4) Zean

Who is the Chairman of Seventh Pay Commission setup by Government
of India ?

(1) B. N. Srikrishna (2) Ashok Kumar Mathur
(3) Jagannath Das (4) P. N. Singhal

AR FHR &1 @9 qad aa9 ST &1 ofegey iy S ?
(1) .o, sfepoon (2) HLMFH FAT ATY

(3) STy &g (4) 9. uH. Rdg

Who is the present National Security Advisor of Inida ?

(1) Shivshankar Menon (2) M. K. Narayan

(3) Ajit Kumar Doval (4) Brajesh Mishra

ARG H A TS G qAEHR B R ?

(1) B&E sipy A== (2) TH. &. g9

(3] ST HAT Staet (4) ST fysm

What is the period of Twelth Five Year Plan ?
aREd dEada Qe &) erafy @ ¥

(I) 2011-2016 (2) 2012-2017
(3) 2010-2015 (4) 2013-2018

Who is the Chairman of 12th Finance Commission ?
(1) Vijay L. Kelkar (2) C. Rangarajan
(3) Raghuram Rajan (4) Y. V.Reddy

11
P.T.0.
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29,

30.

31.

aRed fad ™ & oTeuE Fie B 7
(1) TS Td. HelhT (2) €. e
(3) THIH I (4) arz.dr. IgSt

How many times Marry Kom won the World Championship of Boxing ?

Fpm X o ) favg T @ Raare Sier ?
(1) 4 (2) S (3) 6 4) 3

Which of the following is considered as the second State Language
(Rajbhasha) of Uttar Pradesh ?

(1) Urdu (2) English

(3) Bhojpuri (4) Sanskrit

M1 A & e T 1 SaR uRer @ qEd Uy WIeT @0 qoil &t
T 7

(1) Tg (2) SHASH

(3) eI (4) EEpd

Who has been chosen as 'Business Person of Year' for 2014 by famous
magazine 'Fortune' ?

(1) Bill Gates (2) Tim Cook

(3) Satya Nadela (4) Larry Page

i el ‘BIdA’ &R R 2014 @ fasTE 9€@e e @ 97

g v ?
(1) o icE (2) o7
(@) @ T (4) < ot

12
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32. Who is the present Chief Election Commissioner of India ?

(1) V.S. Sampath (2) S.Y. Quraishi

(3) H.S. Brahma (4) N. Gopalaswami

T H R & g AT AP B & ?

(1) dt.qq. g=q (2) UH.aE.HE

(3) TH. wH. HaEw (4) TH. M
33. The National Library of India is situated at :

(1) Kolkata (2) Delhi

(3) Mumbai (4) Gurgaon

HRA & U GEIRT Hel o B o

(1) TR (2) fees

(3) g=s (4) T

34. A byte represents a group of :

TF byte [hH Ag=ag N yefdi Hear £ ?
(1) 10bits 2) 40bits
(3) 8bits (4) 22bits

35. Which one of the following is not an input device ?

(1) Joystick (2) Keyboard

(3} Printer (4) Optical Character Reader

et & & -1 z7ge s 08 2 7

(1) s (2) fFare

(3) fiex (4) oTRedHT Mz frex
13

P.T.0.
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36.

Windows 1s :
(1) an operating system (2)

(3) acharacter user interface  (4)

T & ?
(1) SaRfeT faeew (2)
(3) iFcT goTT SeTHA (4)

an operating environment

None of these

ST argraTer
T 9 g A8l

37. Which one of the following is a network ?

38.

39.

(1) LAN 2)
(3) MAN (4)
= H | P9 Aeds © 7

(I) LAN (2)
(3) MAN (4)

Who is called as father of internet ?

(1) Charles Babbage (2)
(3) Tim Berners lee (4)
g {E Bl ST9H HIA & 7

(1) = st 2)
(3) feu s=d @@t (4)

What is the full form of IBM ?
(1) International Business Machine

(3) Inte
(4) Inter-relay Bay Machine

14

(2) Institute of Business Management

WAN
All of these

WAN
g gl

Larry Page
Bill Gates

S UST
foret A

rnational Bureau of Management
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43.
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IBM & QU =9 sdEQ 7

(1) FveHeEd femd q990i=

(2) I A% faod AAsH=<
(3) FUITHIAN A HH FASTHT
4) =R & Asf=

Which of the following is not an Indian origin software company ?

(1) Wipro (2) IBM

(3) TCS (4) Infosys

fre & @ Po-dt wdig g @1 Grdeday s T8 B 7
(1) femt (2) omE.&r.uy

(3) <r.di.u4. (4) gwifFa

The temperature of body of a healthy man is :

Th @ AgF & ST @l A9HE BT
(1) 37°C (2) 87°F (8) 98.4°C (4) 98.4°K

Which one of the following element is available maximum in universe ?

(1) Hydrogen (2) Oxygen
(3) Nitrogen (4) Carbon
1 & @ &9 gave § gad surEr qrn Sy arer aey 2
(1) =B=Egre= (2) AT
(3) ABEIH (4) e
Which is the heaviest natural element ?
(1) Mercury (2) Uranium
(3) Gold | (4) Diamond
15

P.T.O.
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44,

45.

46.

47.

(1) o (2) TFEH
(3) | (4) e

Pure Gold is of how many carat ?

Y& diFT e de @ Bar 8 7
(1) 22 (2) 24 (3) 28 (4) 20

'Plaster of Paris' is chemical form of :

(1) Calcium Sulphate (2) Calcium Carbonate
(3) Calcium Oxide (4) Calcium Oxalate
‘@RET AT IRE Tt ' 9§

(1) R aEwe (2) Hfeaad HEHS

(3) Bieaad IifFAEs (4) Bfegam sifamee
Who is associated with development of Atom Bomb in India ?
(1) APJ Abdul Kalam (2) Homi Jahangir Bhabha
(3) Raja Ramanna (4) Kasturi Rangan
uRa § o] an [ 4 @i et ¥ 7

(1) T.41.9. 37=gd HelH (2) BT STBMIT ATl
(3) TSI AT (4) HE TH

Which of the following scientist is not the recipient of Nobel Prize ?

(1) H.G. Khurana (2) C.V.Raman
(3) S. Chandrasekhar (4} J.C. Bose

16
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ﬁ%%ﬁﬁﬁﬁﬁﬂﬁawﬁ@mﬁ%?

(1) =T M= g (2) €r.dr. ™=
(B) TH. FEEy (4) S99
Famous 'God Particle' is :
(I) Neutrino (2) Leptons
(3) Higgs Boson (4) Mesons
TgaRla e wifder 2-
(1) =gfe=r (2) Fer=y
(3) fFa agm (4) HE
In which area of Science one can learn about 'White Dwarf ?
(1) Astronomy (2)  Agriculture
(3) Genetics (4) Anthropology
e & Grg am § RMET AW B g F AT ?
(1) Eiaere (2) B
(3) SHfeery (4)  TeIqATeR
Which vitamin is provided by the sunlight to the human body ?
(1) Vitamin C (2) Vitamin B
(3) Vitamin D (4) Vitamin A
$ Bl G Frarfys gd d g e ® v
(1) ferf= ¢ (2) fefg g
(3) et p (4) [t a

17

P.T.0.
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S1.

S2.

53.

54.

The image formed on the retina of the eye is :

(1) Real and inverted (2) Upright and real
(3) Virtual and upright (4) Enlarged and real
g & emr qx ufafess =it B

(1) areafes T=r Ieel (2) Tl JAT ATKIR
(3) ehIcul-eh T Hier (4) ST T ATl
Indian Standard Time relates to :

(1) 75.5° E longitude (2) 82.5° E longitude
(3) 90.5° E longitude (4) 82.6° longitude
IRAE AFS T wEed ©

(1) 75.5°E 9m=i¥ (2) 82.5°E dgra¥

(3) 90.5°E QM= (4) 82.6° M=

Which of the following acid is formed during the preparation of curd
from milk ?

(1) Acetic Acid (2) Ascorbic Acid
(3) Citric Acid (4) Lactic Acid
Frer 7 & 9 @1 o7, g9 O & a9 & QR e © 7
(1) THife=F o=t (2) uRpiTEep ot
(3) @EigE AT (4) %ﬁrazﬁ 3T
Which of the following Vitamin is dissolvable in water ?
(1) Vitamin A (2) Vitamin B

(3) Vitamin D (4) Vitamin E
CnefEd @ @ ar et g 7 gerei g
(1) fefi A (2) e B

(3) T D (4) faeiA T E

18
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Which of the following is not formed in our body ?

(I) Vitamin A (2) Protein

(3) Enzymes (4) Harmones

Frefafead & & fraer Prafor o o & =8t dar & 7

(1) feri®s o (2) U

(3) UsmEH (4) 'WE

Which of the following mineral is important for controlling heart beat ?
(1)  Sodium (2) Calcium

(3) Potassium (4) Iron

gavaﬁwﬁqﬁamﬁ%%ﬁﬁwﬁﬁﬁq-m@ﬁmmm
g7

(1) Hifsay (2) e

(3) qrefIrmy (4) e

The name of Ebola virus is derived from :

(1) the name of a city (2) the name of a state
(3) the name of a river (4) the name of a hill

I AETd o AT Ry T

(1) TH Y P 919 Q (2) TUHk g F T @
@) TFFd B am g (4) % 9da @ 9m q

Which of the following is the Bird flu virus ?
(1) NH, ) NH, (38 HN, (4) HN
1
Frfifa & @ @m-gr g2 Ty faemy ® 2
5

1

19
P.T.0,
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59. What is the present fertility rate of India ?

A H TIAAE Jo+ &3 fohaer & 7
(1) 2.3 (2) 2.4 (3) 2.2 4) 2.1

60. Coal is formed from the remains of plants and animals so it is termed

as:
(1) Humus (2) Live fuel
(3) Fossil fuel (4) None of these

e o Fior Gt qern SrEad @ oy el &, Al 38 Hel S
%_

(1) == (2) olifed ga7

(3) Siasd g9 (4) TH & @iz &
61. Earthquake is recorded by :

(1) Oscilloscope (2) Spectroscope

(3) Seismogréph (4) Barometer

qH™q Bl HIH ©

(1) STRRARAEDIT (2) avtra ==

(3) W (4) SRHRY

62. Neurology is the study of : |
(1)  Nervous system (2) Skull

(3) Orthopedics (4) Heredity and variations
e frster [ & A TERd ©

(1) dfeE 2) @t

3) &gl (4) oTgeTERa qan T

20
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63. Which instrument used for hearing and analyzing the sound of heart

and lungs ?
(1) Spectrometer (2) Stereoscope
(3) Stethoscope (4) Telescope

ﬁq—mwmw%@aﬁmwmﬁﬁw%fﬁz
39IRT fopam ST £ 2

(1) ey (2) EifErepg

(3) VRUr=py (4) <sfrepg

64. A "warm current’ is a current which :
(1) Flows from a cold region to a warm region

(2) Flows from a warm region to a cold region
(3) Both A and B
(4) None of these

‘T BT g8 e B, o
(1) 75 &3 § 0 87 & @35 gedr 2
() T & q e A9 e Fed B

(3) AR BN
(4) 309 q B T8
65. Science of flight of airplancs is called
(1) Aerodynamics (2) Angiology
(3) Aeronautics (4) Astronomy

E@m%m%ﬁmﬁww%:

(1) arg wifeent (2) TSRS
(3) amfrest 4) @9 AEe

al P.T.O.
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66.

67.

68.

69.

Central Marine Research Station is iocated in :

(1) Hyderabad (2) Chennai
(3) Pudducherry (4) Mumbai
e 7 fdw eiege Rem B

(1) TaETs (2) =8

(3) gggId (4) g%

Name the food product which is not a primary food product :

(I) Cereals (2) Vegetables

(3) Fruits (4) Milk
wmmwwmﬁﬂmﬁﬂﬁmﬂmﬁﬁ%?
(1) 3T (2) afeHEr

(3) = (4) &4

Which fo the following disease is not caused by Bacteria ?

(1) Cholera (2) Dengue

(3) T.B. (4) Plague

Frfafaa # @ #F-a7 A0 JaRkar & goe 9 9@l e ¢
(1) B=m (2) 7

(3) <r.a (4) QAT

The famous Pulitzer award is given for remarkable contribution in
the field of :
(1) Journaliem (2) Literature

(3) Music (4) Science

mmwﬁw%ﬁﬁaﬁ@ﬁﬂmﬁ%mﬁmw

(1) ORI (2) wfe
e (4) fasmA

22
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Which of the following is India's highest peacetime gallantry award ?

(1) Param Vir Chakra (2) Ashok Chakra

(3) Mahavir Chakra (4) Shaurya Chakra

Fr=1 5 | &9 9 7 enfeaeea & awg R o arar seges dRar
IR B 7

(1) 9HER =56 (2) ISl =

(3) HWedR = (4) M =

Full form of SIM is :
(1) Subscribers Identity Module (2) Subscribers Identity Machine
(3) Self Identity Machine (4) Self Identity Module

R (SIM) &1 1 @ ®
(1) mwﬁas%ﬁaq@qg(z) qeEREad ersefed #efie
(3) & Mg Arggw (4) b oTESfedt wggw

SMS stands for :

(1) Swift Mail System (2) Short Messaging Service
(3) Simple Messaging Service (4) Speed mail Service
TR0, A oY §
(1) Rave aa Ry (2) sme Fafshr affg
(3) Frmqar FARTT wifg (4) @is a9 kg
A short-term government security paper is called :
(1) Share (2) Debenture
(3) Mutual Fund (4) Treasury Bill
23

P.T.0.
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74.

75.

76.

TFH BT AGl & AIH G BUS Bl HIT AT B
(1) 9/=&% (2) FFoT9H
(3) FYIT BT (4) oo faa

The monetary policy in India is formulated by :
(1) Central Government
(2) Industrial Financial Corporation of India

(3) Reserve Bank of India

(4) Industrial Development Bank of India
A ® Az Ay g9 #

(1) = TXFR B

(2) wRa H Tt fag Fem g

8) T o sitw 3P=ar g

(4) 9 SfEnfes faem dw 2

The words 'Satyameva Jayate' inscribed in Devanagari script below
the abacus of the state emblem of India have been taken from ?

(1) Mundaka Upanishad (2) Katha Upanishad
(3) Samveda (4) Yajurveda

AT & Tod UdiE oY Geres @ A sgarrd @l J gaEr o=
Fmg SEd’ wel 9 g 7

(1) HoSHIUMTS (2) /AT I

(3) A (4) TS

Sarkaria Committee is related to :

(1) Population Policy (2) Unemployment
(3) Poverty (4) Centre State Relation

24



77

78.

7.

16P/295/7

aEar afafa oafeg D
(1) STHEar |y (2) ST
(3) = (4) FH= TG GE

Which one of the following is not a Constitutional Body ?
(1) Election Commission

(2) Finance Commission

(3) Planning Commission

(4) Union Public Service Commission

Mt & @ @v-ar adafres frem 48 2 2

(1) g AT (2) fa=T ST
(3) ST STERT (4) €9 P [qar STERT
Which of the following Bill can only be introduced in Lok Sabha ?
(1) Money Bill (2) Public Bill
(3) Private Bill (4) Ordinary Bil
ﬁwﬁ%aﬁq—w%&w%sﬁmawﬁn@ﬁﬁmmw%?
(1) &9 Reges 2) % RrdTs
(3) it fadges (4) g [a9gs
Which of the following article is not related to provision of Emergency ?
(1) Article 352 (2) Article 356
(3) Article 362 (4) Article 360
Wﬁﬁ%—ma@:w%ﬁmﬁmqﬁ%?
(1) o7g. 352 (2) °7g. 356
(3) 9T7. 362 (4) 31. 360

25
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80. Legislative Power of President is given in :

81,

32.

83.

(1) Article 123 (2) Article 53
(3) Article 54 (4) Article 52
ezt o frard ofwdt @ T €

(1) <7g. 123 (2) STJ. S3
(3) oTg. 54 (@) o1g. 52

How many types of writs have been given in Indian Constitution ?

ared TR # BpaY ueR $ e & g R T w7
(1) 3 2) 4 (3) S (4) 6

Right to Information (RTI) came into force on :
(1) 15* June, 2005 (2) 12% June, 2005

(3) 15" October, 2005 (4) 12% October, 2005
AT BT SR o Al WA ?

(1) 153, 2005 (2) 12, 2005

(3) 15 3TFAR, 2005 (4) 12 STFER, 2005

Which article of the constitution termed as 'Soul of the Constitution’
by Dr. B.R. Ambedkar :

(1) Article 32 (2) Article 226

(3) Article 30 (4) Article 123
m‘-‘-«:m%ﬁmaﬂ%ﬁﬁ@‘rozﬁ.m. STEe®T 3 Giae i ST
el & 7

(1) CRE 32 (2) aqg 226

(3) g 30 (4) &g 123

26



84.

85.

86.

87.
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Which constitutional amendment act called as 'Mini Constitution’ ?

(1) 43+ (2) 42n (3) 44n (4) 73w
%ﬂﬁ%ﬂﬁmﬁsﬁwmﬁﬂnfﬁ‘ﬁ?ﬂ#ﬁm’aﬂﬁm%?
(1) 433 (2) 423 (3) 443 (4) 733

‘The Directive Principles of State Policy' is taken from the Constitution
of which of the following country ?

(1) Ireland (2) Britain
(3) UsA (4) Canada

ﬁwﬁ@ﬁm%&r%#ﬁﬂmﬁ‘w%%%ﬁaﬁ’ﬁm
T g ?

(1) STRERAvE (2) fres

(3) F.wa.w (4) =TT

Right against Exploitation is contained in ... of the Indian

Constitution :

(1) Articles 14-18 (2) Articles 23-24

(3) Article 19 (4) Article 21-22

T GO $ ergedy ... q MooT & R @ et
o

(1) 313. 14-18 (2) oT7. 23-24

(3) &7F. 19 (4) 97Tq. 21-22

Article 368 of Indian Constitution is related to :
(1) Amendment of Constitution
(2)  Special provision for Jammu and Kashmir

(3) Special provision for North East India
(4) None of these

= P.T.0.



16P/295/7

88.

89,

90.

AR WU @ AT 368 AT ©
(1) g delaT 4

(2) 9] IR SR & faguiesr 4@

(3) @RI 9Rd & iR 4

(4) =99 g Fr2 T2

Tirupati temple is located in :

(1) Andhra Pradesh (2) Karnataka
(3) Kerala (4) Tamil Nadu
feufa Afex el fera & -

(1) oTsr 929 (2) eHleh

(3) @ (4) dferg
Which is the longest tributary river of India ?

(1) Godavari (2) Ganga

(3) Damodar (4) Yamuna
e # gEd O ged a4l de-a 2§ 7

(1) =Ty (2) T

(3) aETHIRY (4) g

The highest peak of India is :

(1) K2 (Godwin Austin) (2) Mt. Everest
(3) Kanchenjunga (4) Naga Parvat
R @ e S Akl ©

1) & 2 (FsfE eniEd) (2) W TIE
(3) e (4) =T G

A\
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93.

94,
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Which of the following represents the youngest mountain range in
the world ?

(I) Rockies (2) Himalayas
(3) Andes (4) Alps
ﬁmﬁﬁﬂ%ﬂf&waﬁmﬁgmqéﬁei@w%?
(1) <A (2) fRwmTg
(3) TS (4) Teqd
Which one of the following is the deepest Ocean of the world ?
(1) Atlantic Ocean (2) Pacific Ocean
(3) Indian Ocean (4) Arabian Sea
ﬁwﬁﬁﬁ?%wwmﬁmw%?
(1) wewifs HermR (2) 9T HBEFR
(3) = mwErR (4) SE AR
The world's largest river island Majuli is located in :
(1) Mizoram (2) Tripura
(3) Assam (4) Arunachal Pradesh
gﬁmwmﬁwﬂé‘rmm@ﬁ(mjmi)ﬁw%:
(1) e 5§ (2) By
(3) oray F (4) STEUITE SRar F
Which of the following is the smallest Continent (in area) ?
(1) Antarctica (2) Europe
(3]  South America (4) Asustralia
TR @ BT G e ¥ (Fw A g g) 7
(1) SiemEnfes (2) I
(3) AR¥Y AftE (4) SRR
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95. Marina Beach is situated in :

(1) Mumbai (2) Kolkata

(3) Chennai (4) Kanyakumari
AT whE ae e ® o

(1) g== (2) eIETRTT

(3) TR (4) AT

96. Durand Line is between :
(1) India and Pakistan (2) Pakistan and Afganistan
(3) India and China (4) India and Afganistan

s @l fhus 9= 8 7

(1) oXa 3fT ufeem (2) URREE S B
(3) 9RG 3R 9 (4) 9RT ST ST
97. The highest road in the world is located in India. It links :
(1) Leh & Manali (2) Jammu & Manali
(3) Jammu & Srinagar (4) Leh & Srinagar
Rrog 5 999 Sd 926 9d °§ Rad 2198 ... Sredt 2
(1) @& ofx medt (2) g SR AT
(3) s/ ofir AR (4) @B AR AT
98. Which planet is called as 'Evening Star’ as well as 'Morning Star’ ?
(1) Mercury (2) Mars
(3) Venus (4) Jupiter
By TE # gati 'R @ W A it w oft el IR 8 ¢
1) g% (2) WA
@ T (@) e
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99. 'Garibi Hatao' (Removal of Poverty) was one of the main objectives ¢!

which Five Year Plan ?

(1) First (2) Second
(3) Third (4) Fourth
TR B B deadT Ao B ged Sgaed or ?
(1) = (2) fad
(3) T (4) =gd
100.The Bhakra Nangal Multipurpose Project is built on which river ?
(1) Sutle; (2) Mahanadi
(3) Indus (4) Chambal
HREST AN dg3gasia aRdsrr e 7t q¢ g+ & 7
(1) Tetor (2) WHeTEl
(3) fa=y (4) ==
b1 ¢ 5 IR— opened the first Indian Railway in 1853 from Bombay to Thane :
(1) Lord Cornwallis (2) Lord Dalhousie
(3) Lord Canning (4) Lord Mayo
............ - el W X 1853 % 9% q A B Rig = A
(1) w1 Hretafera (2) E TwRNH
(3) TS BT (4) S HEY
102.The Jallianwala Bagh Massacre took place on :
(1) April 11, 1919 (2) April 13, 1919
(3) March 13, 1919 (4) March 12, 1919

31 P.T.O.
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ST arT AREER BT ¢
(1) 11 W, 1919 (2) 13 e, 1919
(3) 13/, 1919 (4) 12 WM, 1919

103. Which of the following metals was not used by the Indus Valley people ?

(1) Copper (2) Iron

(3) Gold (4) Silver

By O @ DF-w ag Riry aadr & a2/ I9arT Jet fear T ?
(1) = (2) et

(3) & (4) =

104.Who was the first president of Indian National Congress ?

(1) A.O. Hume (2) Dadabhai Naroji
(3) W.C. Banerjee (4) S. N. Banerjee
AR T B B T ST HA F 7

(1) Q.31. ggd (2) arETHrE A
(3) =Y.l gt (4) TH.OH. A0

105. Lord Dalhousie was known for introduction of :
(1) Doctrine of Lapse
(2) Subsidiary Alliance
(3) Permanent settlement of Bengal
(4) Partition of Bengal

TS SABISH Bl ceveveennn- a%:gmﬂﬁaﬂﬁ%%nww%:
(1) faem =1 =T (2) TeraH TS
(3) =M & T FHAE (4) &I @ ST
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106.The objective of this action was to set up a communal gulf between
Hindus and Muslim :

(1) Partition of Bangal (2) Formation of Muslim league

(3) Jallianwala Bagh Massacre (4) Non-cooperative Movement

¥ AR H1 Ig29T g ol gfew & A o wraRE @re
T AT o

(1) T 1 s (2) giEH &hT @ TIrgEr

(3) Siferdtarer arT SRaeErR (4) STESANT AR
107.The Battle of Plassey took place in the year ;

AH B T T . q ga

(1) 1757 (2) 1758 (3) 1890 (4) 1775

108.Ramakrishna Mission was started by :

(1) Vivekananda (2) Ram Krishna Paramhans
(3) Raja Ram Mohan Roy (4) Swami Dayanand
THG™T 9 &l greeT L. T A
(1) ferm= (2) MRS GIHEY
(3) TS W Arew g (4) @l g=EE
109.The first Europeans to trade with India were :
(I) The Dutches (2) The French
(3) The Portuguese (4) The English

W%mwma@qwma:
o A
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110. Quit India Movement was started from :

(1) Delhi (2) Meerut (3) Bombay (4) Madras

ARA BIEl STl &l J&eTd &3 ot
(1) faeeh 2) e (3) =g (4) w=TE

111. The third Battle of Panipat was fought between :
(1) Babar and Ibrahim Lodi
(2) Ahmed Shah Abdali and the Marathas
(3) Shivaji and the Mughals
(4) Akbar and Hemu

(3) Ruash IR I

(4) oTax IR 8Y

112. In which Congress Session the resolution of ‘Poorn Swaraj was passed ?
(1) Lahore (2) Bombay
(3) Calcutta (4) Karachi
m@ﬂ%%ﬁa@aaﬁﬁgﬂfwwmqﬁﬁgw?
(1) s (2) ==
(3) el (4) e

113. Hiuen-Tsang visited India during the reign of :

(1) Chandragupta Maurya
(2) Chandragupta 11 Vikramaditya

(3) Harshavardhana
(4) gamudragupta
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BdT-HIT fbad STATRT B AT 9IRS AT 7

(1) == 9 (2) == et fospafeey
(3) wHadw (4) EHET
114. Who was the first Governor General of Bengal ?
(1) Lord Clive (2) Lord Canning
(3) Lord William Bentic (4) Warren Hastings

quww&rwaﬁqm?

(1) wré amsa (2) € BT

(3) e faferam dfes (4) ars BRET
115. The first Olympic game was held in

(1) Paris (2) Athens

(3) London (4) India

HEH SNHE G P gHT o7 ?

(1) IRw (2) uS=

(3) == (4) g

116.The Rath Yatra at Puri is celebrated in honour of which Hindu Deity ?

(1) Ram (2) Jagannath

(3) Shiva )

Vishnu
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g fomg Zaar & @ g § v amn el SR 7

(1) ™ (2) ST

(3) fam= (4) fog
117..ceneen... is also known as the 'Empire City" :

(1) Rome (2) Spain

(3) New York (4) Italy

........

118. A Man spend 35% of his income on food, 25% on children's education

and 80% of the remaining on house rent. What percent of his income

he 1s left with ?

T SR ST e O H 35% W@ U, 25% sl I fRTar 9T AT
aﬂgq-amaﬂm%ﬁmﬁwaém%lmwmqﬁm

&1 fraar ufasera g 7
(1) 8% 2) 12% (3) 14%

119.70% of 70% of Rs. 75,000 is :

(1) Rs. 36600 (2) Rs. 37600

(3) Rs. 36750 (4) Rs. 37750

36
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75000 % 70% BT 70% BNl -
(1) To 36600 (2) Bo 37600

(3) o 36750 (4) Bo 37750

120. What least number which must be added to 1056, so that the sum is

completely divisible by 23 ?
q8 JATH HEAT FqiEy S 1056i’fwh$éfq?23ﬁia~qu€r?
(1] 3 (2) 18 3) 2 4) 21

121.Find the complete remainder when a certain number is divided

successively by 3, 5 and 7 leaves remainders 2, 3 and 4 respectively ?

%WMWWWWW@W&SW?@
I 89 9T 9% EST: 2, 3 qep 49T B ?

(1) 52 (2) 73 (3) 61 (4) 71
122.[0.05*5—0.005*5] equal to :

(0.05%x5-0.005x5) & &= &nr -

(1) 2.250 (2) 0.225 (3) 0.0225 (4) 0.275
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123. A father said to his son, [ was as old as ydu are at present time of your
birth. If the father's age is 38 years now, the son's age S years back

was ?

(1) 14 years  (2) 19years (3) 33 years (4) 38 years
e R 7 oTq O & FeT A 97 e T B qHd e A
S % AR ) AR adA ¥ fEr @ ong ssad ¥ A sa @
g @ g Fr At 7

(1) 14 ad ) 19af (3 s3ad (4) 38ad

124.1n what time will Rs. 1000 amount to Rs. 1331 at 20% per annum
compounded half yearly ?

(1) 1 year and 6 months (2) 2 years and 6 months
(3) 1year (4) 2 years

BpaY w99 A 6.1000 @ . 1331 BN 20% Sty a1 arfdent
ergfe & <t A

(1) 19 6 HBH () 2a% 6FE

@) 1ad (4) 2ad

38



16P/295/7

125.Sachin buys mangoes at the rate of 3 kg for Rs. 21 and sells them at

5 kg for Rs. 50. To earn Rs. 102 as profit, he must sell ?

g 9 3fEn. oW 5. 21 F @der ) 39 5. o 5. 50 #
I @ 5. 102 &1 &9 o9 & 7 I foheem Rean. s S=er g2 ?

(1) 26 kg (2) 32kg (3) 34 kg (4) 56 kg

126.How many numbers less than 10000 are there which are divisible by

21,35 and 63 ?

T HeATd 10000 & B ¥ S B6 21, 35 qem 63 A g B 7
(1) 32 (2) 34 (3) 30 (4) 31

127.1/4 of number of boys and 3/8 of number of girls participated in

annual sports of the school. What fractional part of total number of

students participated ?

(1) 32% (2) 20%
(3) 36% (4) Data inadequate

ﬁT&ﬁﬁ@Hﬂ%ﬂTﬁ%@ﬁWﬁ%ﬁﬁﬁﬂTﬂBﬁgﬁﬁW
éﬁ%ﬁ@fﬁmﬁq‘rwﬁﬁmwmﬁzﬁﬁmﬁm%m?
(1) 32% (2) 20%

(3) 36% (4) oTaEte zrer

a2 P.T.0.
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128.Find the value of (10)2%° . (10)'% :

(LOY2 .+ (10)¢ T HIF gy :
(1) 1000 (2) 10000
(3) 100 (4) 100000

129.The number obtained by interchanging the digit of a two digit number
is more than the original number by 27 and the sum of the digits is

13. What is the original number ?

U A SR #l GE B i 99 H Fad o U AT |EAT T
dEn @ 27 e & ol ofet & AFT 13 %, o qW Hemr #®& g 7

(1) 85 (2) 67 (3) 76 (4) 58

130.1t is required to get 40% marks to qualify an exam. A candidate score
200 marks and failed by 8 marks. What were the maximum marks of
that exam ')
(1) 520 | (2) 540
(3) 502 (4) Couldn't be determined

ﬁsﬁqﬁwaﬁﬁﬁﬁaﬂﬁ*%gM%ama%mwaﬁr%l@m
X 200 sie ST R ok e 8 ofs A SrgiIcl W@ A JaEy % I
qfter &1 freen 3fe fha § 7

(1) 520 (2) 540

(3) 502 (4) Foepra &0 ST FeR
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131.The average age of 30 students is 9 years. If the age of the teacher is

included, the average age become 10 years. What is the age of teacher ?
(1) 27 years (2) 3lyears (3) 35 years (4) 40 years
3oﬁmﬁﬁraﬁeﬁwang9aﬂf%|qﬁfﬂmzsaﬁaﬂgaﬁﬁhsm

mﬁeﬂwmloa&aaﬁ%ﬁrfﬁwﬁ@@ﬁﬁ:ﬁﬁvﬁ?
(1) 2734 (2) 31ay (3) 35at (4) 40 a9

132.8alary of Mr X is 80% of the salary of Mr. Y and the salary of Mr.Z is
120% of the salary of Mr. X. What is the ratio between the salaries of
X,Yand Z reéspectively ?

%ﬁnmxwaﬁﬂ%ﬁmY%aa?ﬂiTSO%%waﬁqﬁzmaw
%ﬁnmx%&aqam120%%ra’rmsr:%ﬁqu,yaarz%aa=rasr
STIII & ?

(1) 4:6:5 (2) 4:5:6
(3) 20:24:25 (4) 20:25:24

133.1n a zoo, there are lions and parrots. If counted, there are 100 heads

and 290 legs. How many parrot are there ?

ﬁrmiﬁ%mwﬁshamaﬁmwﬁ%ﬂﬂw?ﬁﬁwmo%m
zgoﬁ“{m"aﬂﬁa“rﬁl%ma-(ﬁa‘l%a%mamsq?

4) 75

41
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134.P, Q and R starts a business jointly. Twice the capital of P is equal to
thrice the capital of Q and the capital of Q is four times the capital of

R. Find the share of Q in an annual profit of Rs. 148500.
(1) Rs. 54000 (2) Rs. 64000

(3) Rs. 56000 (4) Rs. 55000

P,QamRﬁq@mﬁﬁW@“@ﬁﬁmlp%iﬁﬁaﬁrang%
*ﬁ*?ﬁ?gﬁ%w%HWQaﬁf?ﬁRmaﬂgﬂ%tQaﬁ
fearl ST Sifvie ot aifden T o 148500 & 7

(1) o 54000 (2) Bo 64000

(3) Bo 56000 (4) Bo 55000

135.10 men or 18 women can do a piece of work in 38 days. In how many

days will 6 men and 12 women do it ?

(1) 20 days (2) 30 days (3) 40 days (4) 10 days
10 STl SAHEt 18%%@%%&%38%%{6@%%
Eﬁﬁaﬂﬂtﬂawmaﬁﬁwmaﬁﬁﬁaﬁﬁﬁﬁgﬂfﬁ?

(1) 20 % (2) 30fE (@ 40 f&= (4) 107

1d awatch toY at 40% profit and Y sold it to Z at a loss of 20%. If

136.X s0
7 bought the watch for Rupees 432, at what price did X purchase it ?
(1) Rs.38571 (2) Rs.380.21
(3) Rs. 390 (4) Rs. 550
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XH U °gl Bl 40% H Y G Y J=7 921 Y 39 Z&H 20% BT
w%ﬁmuaﬁz%wa@aﬁ%zmﬁ@ﬂmﬁrmx%
34 fFa 593 ¥ @ler ot ?

(1) o 385.71 (2) To 380.21

(3) o 390 (4) o 550

137.A sum of Rs. 400 amount to Rs. 441 in 2 year. What will be its amount,

if the rate of interest is increased by 5% ?

(1) Rs. 490 (2) Rs. 484

(3) Rs.560 © (4) Rs.512

m4oomﬁr2wﬁao441€rw%|qﬁmﬂs%aa
Rar s & & ey @y @9 2

(1) Bo 490 _ (2) To 484

(3) To 560 (4) To 512

138.Find the missing number in following series :
o sjeer 3 HIIRAT Hear sy
4, 25, 130, ? 3280

(1) 685 (2) 645 (3) 678 (4) 655
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139.Find the wrong number in the following series :
Prefeiad sigar § § Tad 9l ARy -
2, 10, 18, 54, 162, 486, 1458
(1) 18 (2) 54 (3) 162 (4) 10

140. Choose the pair/Group of words that show the same relationship as
given in below pair :

Poverty : Prosperity
(1) Intelligence : Stupidity (2) Rain: Flood

(3) Train:Cart (4) Love : Sorrow

aﬁfwaggn/wgﬁaaﬁﬁsﬁﬁwraéwa:

Tl'fff_iﬂ' ! Hﬁf@i
(1) giaHdl utenl (2) @t : @
(3) wiremer w3 (4) 09 : 3@

141. Find the word that can't be formed from the letters used in the word
'EXAMINATION'

ﬁﬁﬁgﬁﬁsﬁﬁﬁﬁmmmﬂm%maﬁmmmam
S b 7
(3) NONINATION (4) TAXATION

142.1dentify the odd one out :

'ﬁmﬁiﬂt'ﬁq:rgﬁﬁr

(1) ACE @ MNO () UWY @ PRI
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143.1f BRAVE = APXRZ, then SALUTE = ?

AT BRAVE = APXRZ, @ SALUTE = ?
(1) RIYQOY (2)  RYIQOY (3) YRIQOY (4) RYIQYO

144.1f '+' means - , + means =, = mean 'x', 'x' mean '+, what will be
the value of the following expression ? |
R S S S ——; X!, 'x' T 31ef '+ Gt fpey
HHIBRT &1 A e enmr 2 |
8+4 .3x5.9?
(1) 44 (2) 50 (3) 46 (4) 48

Surajpal is related to Rani ?

(1) Uncle (2) Father
(3) Grandfather (4) Father-in-law

gﬁaaﬁéﬁﬁm,wﬁﬁ%?ﬁ%,“@%rﬁw o
m@ﬁm%ﬁmieﬁﬁaﬁ%r’ﬁ%,wﬁ

(1) =r=r (2) far (3) =TT (4) agx

146.1n a class of 40 students, Akhilesh ranks 15" from the bottom and

Nimpa ranks 17* from the top. How many students are there between
Akhilesh and Nirupa ?

Qaseswﬁmaﬁ%mf@?rsnmm:ﬁ%@ww%wﬁmw

gr?mwﬁﬁw%ﬁmfaésreﬂt%m%ﬁaﬁﬁmﬁaﬁ

(1) 10 (2) 9 (3 7 (4) 8
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147.. How may H are there in the following alphabet series, which are
immediately preceded by P and immediately followed by E ?

Fr=ifafaa siger & avfqen & o (H) € o B @ (P) S1 ved
g 997 (E) % 3% A & ?
PHCRQPHETPHLHCPEHPSRQEHPHCPH

(1) 2 2) 3 3 1 @) 4

148. Which of the following words will be the last word in dictionary ?

B § @ A @ O =Ry § oT. " 8rm ?

(1) UNETICAL (2) UNEARTH
(3) UNEASY (4) UNEMPLOYMENT

149.1n the following number serics, one number does not follow the pattern
of the series. Find the wrong number.

ﬁmﬁﬁmiq@wﬁim;@@TmaéﬁmtﬁﬁsﬁFTQ?
0,8,7, 16, 14, 24, 22, 32
(1) 14 S (2) 24 (3) 32 4) 22

150.The age of Arvind's father is 4 times of his age. If 5 years ago, fatk_xer'ls
age was 7 times of the age of his son, what is the age of Arvind's
father at present ?
(1) 33 yecars (2) 40 ycars (3) 70 years (4) 84 years
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